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PART—1&1I

RESEARCH APTITUDE, REASONING AND RESEARCH METHODOLOGY &

COMPUTER APPLICATIONS

NOTE :

1.

2
3.
4

All questions are compulsory and of objective type. / G+ 537 3ifarRf T agfss & |
All questions carry equal marks. /Wﬂ U B 3eh I B |
Only one asnwer is to be given for each question. / Wl U3 &1 T & SR ST B |

If more than one answer are marked, it would be treated as wrong answer. / U& q 3@@_
TR < B AT F T & I BN Terd HFT SRR |

Which option is approprite to full fill chain of numbers?
4,8,12,16,7

CAR @ T Aol B R B B Y BT fAwer Suga 87

4,8, 12, 16, ?
(A) 18 (B) 20
(€ 22 ‘ (D) 24 ( )

The missing term of a series is.
2,4,8,16,..... , 64

A TS e o e ¥
2, 4,8, 16, .., 64
(A) 32 (8) 34
(c) 36 (D) 38 ()

Communication is necessary for

YT 3P &

(A)  self-expression / 3meATI I

(B) News/HHEIR & forg

(€) Information / AT & forg

(D) All the above / SURIGd |HY . ( )

Communication is done ......

AT fHar Srem ® .

(A) News paper / HHMIR UF

(B) orally /#HiRg®H

(C) Letter /TUH ‘

(D) All the above / SURIGRT ) ( )

1 P.T.O.



In Indian tradition marriage is called

> AR wERT ¥ RaTE PEer &
(A) Contract / 3a
(B) ‘Aholybond / Ufds =+
(C) Necessary relation / 3MTgea®d R
(D) All'the above / SURIGd T (

Why do teacher use teaching aid .......

® Ry, R amnflt a1 ST T8 a2
(A) To control / fAI=YT & ferw

-+~ (B) - For entertainment / HAIRSI &v4 & forw

(C) Forattention / AMIHYI & forw
(D) To omprove the understand and knowledge / 19 § ¥ 98 & |

ferg
Knowledge is product of ....... ?
A4 U 27
(A) Research / 9N &) (B) Heradity / m Y
(C) Literature / GIfgcd &) (D) History / sfoer &) (
Which of the following is product of learning?
8.

freifa # <fres @ uftsar &1 aRum 8-

(A) Knowledge / §H

(B) Development / fd&™T

(C) Theory / fET ’

(D) Noneofabove / T8 W dIs 7T&l (

g What _is Democracy?
" T Y P &7
(A) Government by people / T ERT B
(B) Government for people / &I & folU WR&R
(C) Government of people / TN B! IR

(D) Al of the above / SURIGT |H) (
10 Find out the wrong number in the sequence: 1, 3,5, 7, 9, 11
- g e e 99 ARG 1, 3, 5, 7, 9, 11
(A) 6 (B8) 7
€ 9 (D) 11 : (
2
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12.

13.

14.

15.

16.

11 Find out the right number in the sequence?

- o @ W e s Piforg?
(A) 2,4,8 16 (B) 3,6,9,13
(C) 2,4,6,10 (D) 5,10,15,25

(A)
(B)
(€)
(D)

Which one of the followin

(A)

Find out the right answer by match List - | with List-|

fore—1 # fore—11 @ w1 A9 oo

T8 ST S HY?

Schedule Cast - Meena / 3 fora wTfy — oy
Schedule Tribe - Jat / ITRIfeRT SNl — wTe

Other Backward Class - Garo / 3 fUser ot
Schedule Tribe - Bheel / 3IfRra Sreremfy —

Social Auditing / THTISTSG 3feeror

— IR
At

g is not the tool of good governance?

1 4 & B e B SR w6 a7

(B) Non Governmental Organization / R WP e

(€
(D)

Right to Information / &<IT T JIRN®R
Judicial Activism / “g1RIe6 qfthar

Match List - | with List-Il and select the correct match

(A)
(B)
(©

(D)

A1 BT G-I

| et g w8 S @7 T i

Article-14 - Right to equality / 3I¥88—14 — WAl BT BRI
Article-19 - Right to Life / ATTBT—19 — WaT &7 SiRIH
Article-21 - 'Right to speech and expression 7 31?1’3@?{-21 - HEUY Uqg

@i &1 afer

Article-30 - Right to constitutional Reniedy / C’ﬂ_g’i@‘c{~30 — Jaee

SUART BT RBR

U.G.C. is related to

(A)
(B)
(€)
(D)

IS, BT T @

Higher Education / 3T ey
Professional Education / &aTaaIfes Ry
School Education / Al fRrerm

None of above / B9 ¥ iffl?z( B

A successful teacher is one who is

(A)
(B)
(C)
(D)

TP Thd ALATYS I8 & o

Compassionate and disciplinarian / 'ﬁamﬂa
Passive and Active / fAfSpe 3l wAfpy

Do not teachin class / ®eT 9 «1&} UgTeT B
Give tution at home / =X WR TR vgray &

Tq S &)

)
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17.

18.

19,

20.

21.

22.

23,

‘Sunami' is a natural disaster involving

G T Wi anuer & R

(A) Eruption of large amount of material / Y AT § Y By m'ﬂ'-‘[ Bl 8

(B) Strong winds / oy BAIY Fera) 2

(C) Strong winds and water waves / 9T BaY 3k EECGIRG RS SOl 8

(D) Strong water waves / O] &I golaa) e Sod) g

The primary duty of the teacher is to?

SIS BT YRS BHrf 27

(A) Raise the intellectual standard / Sifged v P HAT BIAT
(B) Improve the physical standard / IR v DI HET BT
(C) social development / HIHIRNTS fAwRy

(D) Social change / WIS gRqde

The next number in the series 2, 5, 12, 27, 58 s, will be

2,5 12, 27, 58, ... BT G F et Hear PE—d) 2y
(A) 121 (B) 122 '

() 123 (D) 124

Which year is correct about the National Human Rights Commication Act?

ﬂgﬁawaﬂaﬂ?mzkaﬁﬁaﬂw—wmﬁ%‘?
(A) 1990 , (B) 1993
(C) 1995 .& (D) 2000

What is mean by effective teaching

T Rreror § e Ay @
(A)  Teacher's satisfaction / Rers o1 wdy
(B) Knowledge of teacher / R &1 59

(C) Teacher's liking for professional excellence / e Sesdar @ yfy Rrmm

@ WY

(D) Teacher's mabing students understand / Rrers &7 BIEAT B AT (

What is the role of teacher in field of education?
%m%ﬁaﬁ&rﬂmaﬁﬁﬁwwﬁ?

(A)  Provide informations /. AT UGN &A1

(B) Solve the problem / THRT LGEIE

(C)  Encourage healthy competion / I yfeRmet ®) vieares
(D) Allabove / SURIFT i)

Which one of the following statements is not correct;
ﬁwﬁﬁaﬁa—wwmmﬁﬂ'ﬁ%:
(A) Indian Parliament is Supreme / YR ¥ HHE AR @

(B) The Supreme Court of India has the power of judicial review / YRT ¥ wHafsg

4
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24.

25.

' 26.

27.

28.

29.

(C) President-appoint the judge of Supreme Court 7 ?I'GQCIﬁ '\qiﬁ'v—ol I B
AT Y g wvar &

(D) There is a council of ministers to aid and advise the President / NIgUfy ( )
B HATE o1 B Y 5 uRyg 2
JILK : KLU :: MNPQ: ....... ?
- (A) anePm (8) MPQN
(C) QPNM (D) PNMQ _ ( )
Chipko Movement was first started by?
fRruesY srieter wdwert oy fpar T or?
(A} Sundarlal Bahuguna / J[vevelTal CRUA
(B) lyotiBa Phule / SIfY §T hel
(C) ElaBhatt / oI WE '
(D) Mahatma Gandhi / HETT e ( )
RTI (Right to Information) movement is related to-
I BT ARBR acied &7 Ty &
(A) Rajasthan / ToTReI_
(B) Delhi / feoeht
(C) Uttar Pradesh / SR U297
(D) Tamil nadu / S AT ( )
'X'is wife of 'Y' and ;Y' is brother of 'Z', '2' is son of 'P'. So what is the relation of 'P' to 'X'?
XY DB U B R Y2 B AE R 7 p gy 93 B, P B XY AT
14
(A) sister / 989
(B) Aunt / =TI
(C) Brother / WIS
(D) Fatherinlaw / TR ( )
What is the percentage of water which covers the earth?
gedt & e wRiee g—wrr W et 27
(A) 71% (B) 76%
(C) 66% (D) 33% ( )
Which of the following organization Igoks after the quality of Higher Education in India?
ﬁmﬁ%aﬁwwmmﬁmﬁmaﬁmaﬁﬁ—@mﬁ
(A) U.G.C. (B) N.C.T.E.
(C) 1SS.RA. (D) CS.LR. ( )




OF

Question no. 30 to 33 is based upon the following diagram in which there are three
interlocking circles A, P and S. Where A stands for student, Circle P for Professors and circle $
for sports personDifferent regions in the figure are lettered form a to f:

30.

31

32.

33.

34,

35.

&

S

The region which represents Professors who are both Student and Sports person?

—m%wmﬁwﬁhm%ﬁmwmﬁﬁﬁ
(A) a (B) ¢
() d (D) g ( )

The region which represents Professors, who are also Sports persons but not Student?
mﬁ—wa}awmwmﬁﬁu?&hm%ﬁﬁﬁm@aﬁ%ﬁﬁgmﬂﬁ
g

(A) e (B) f

€ ¢ (D) g ( )

The region which represents Sports person who are neither Student nor Professors

ﬁ%wehwm%ﬁaﬁw@hm%ﬁaﬂ#mﬁﬂﬁm?
(A) f (B) g
(€) b - (D) d ( )

Following are the parts of a computer, except.
TP HRYSR & A1 &, Ryara
(A) KeyBoard / &I IS (B) Monitor / HIFIEX
€ cpu./ ¥idy, (D) Printer / fiex ( )

Who invent the MODEM?

HIed &1 nfawerR feaw far?

(A) BellLaboon / o7 ﬁ{":’

(B) AT and T information system / U&l Uvg & S ey

(€ Apple Computer Ink / YWl HFIEX b

(D) Digital Equipment Corporation / f&Siical saiyive HruRer ( )



36.

37

38.

39.

40.

41.

.

What is the full form of WWW term?

WWW BT X7 919 &7 87

(A) World Wide Web / T¢€ aTss 39

(B) World Web Page / dcs J9 UST

(C) World Web Browsing / dc 49 STSRYT
(D) None ofabove / SURIGT & DIg TS

Which is related to development of computer?

PYN D e 4§ Tty 27
(A) 1946 (B) 1938
(C) 1923 (D) 1951

What is weight of first generation computer?

TEell Mt B BEYER B BT g o o°T?
(A) 30ton / 30 eH (B) 25ton / 25 @9
(C) s50ton / 50 & (D) 15ton / 15 ©9

Which is not related to hardware

DT FRAIR W gy e

(A) KeyBoard / & 9IS

(B) Monitor / HIFTex

(C) Floppy / AT

(D) System Software / RICH HITedgw

Which is related to software?

DT TR F TR 87

(A) system Software / e HIFeIq®

(B)  Application Software / TEHHIT AIFCIIR
(C) Custom Software / HEH HYCIAR

(D) Allof above / SURIHRT |

What is the full form of RAM?

¥ (RAM) BT T 91 FIT 27

(A} Read Access Memory / Re w9 J919)

(B) Random Access Memory / ¥=8H T AERY
(C)  Record All Memory / R&1E aifer a9

(D) None of above / IURIEFT § DI T8

P.T.O.



42,

43,

44,

45.

46.

47.

What is full form of LAN?

O (LAN) T RT 919 @ 27 |

(A) Local Area Network / @1ber TRAT Yead
(B) All Local Network / 3ifeT @peT “egas

(€) Line of All Network / T3 31T 3ifel Jega
(D) Noneofabove / SWRIGT ¥ & &I 7&f

Computer language is

DY WTT B

(A)  Machine Code / o wraT

(B) Assembly Code / 3acil HTST

(C) High Level Language / = Sa8IT HI§T
(D) Allof above / SURIGT W+

What is called to service provider of internet company?

FETe 9 T arel S B Bey 87

(A) Internet Service Provider / se3e dafdg PICIETSH

(B} Internet Information Provider / ST ThiIEE Margex
(C) Internet Technology Provider / S=R-IE CRIRI]] qrargey

(D) Internet Data Provider / $TIRE ST
E-mail is related to '

3o w2

(A) Software / WIFedRR
(B) Hardware / BISIIR
(C) Monitor / HIFTEx

(D) Information / STBTHI

Right match is

wE gafera @ |

(A) RAM- Ramdom Access Memory / YH—¥"gH T A

(B) ROM-Record Only Memory / JF—R&Te T Y

(C) LAN-Link Area Network / S-—foid TRaT Segas

(D) ISP-Internet Service Product / W——Wﬁ‘d g Meac

What is Printer?

= w7 87

(A)  Input Device / g Yc fearsw

(B) Output Device / arseye feagw
(C) Both / QMY

(D) None / IS &

P.T.O.



48.

49,

50.

SL

52.

53.

What is related to development of Computer?

HYR @ fIBra 9 grfia 27
(A) Batch Processing / &9 WIRARTT
(B) Time Sharing / <189 Igfdr
(©) RealTime / Ryt erzH

(D) Allabove / SURIGd UH)

Function of Internet is

e & Y &

(A) Only sending data / % 3fips A5=T

(B) Only receiving data / RI® 3Nide UIg HRAT

(C) Sending and receiving data / 3T NSIET T YT HIAT
(D) None of above / SURIGT § ¥ P &)

MODEM is related to

AreH g @

(A) Computer / HFeX (B) Internet / SvERAT
(C) Floppy / Weirdl (D) Hard Disc / BTS fowp

In sampling the lottery method is used for
maﬁwmmmmmmmm%?
(A) Interpretatioin / fd==

(B) Generalization / ATHIRIIRHNOT

(C) Randemisation / AUTGFHEHT

(D) Conceptualisation / HHSIAT

The scientific research not related to ...

e My § et 98 @
(A) Generalization / HTHIRATHYO
(B) Hypothesis / SUBSHAT

(C) Objective / eI

(D) Prejudices / Y&TUTd

What is the main object of research

W BT T I 8

(A) To discover new facts or to make fresh interpretation of known facts / 19 qegy

B G HAT T R oAl B S
(B) To review the literature / ATfecd P THET HIET

(C) Togetan academic degree / 3THIEAF &) UTe FHear
(D) write abook / fhame forgar

P.T.O.



54.

55.

56.

57.

58.

59.

60.

Scientific research do not include?

aefe e 5 wfie w1E) et 22
(A) Honesty / SHIFET

(B) Objectivity / RIS

(C) Subjectivity / THfRTINGAT (D) sampling / AT

Which is the type of social research?
BT ARG ATHIT BT TR 27
(A) Pureresearch / faglg oy

(B) Action research / fohaTeHes oy

(C) Applied research / agIR% INer
(D) Allof above / SWRIGT

Which is not the method of qualitative research?
B TS Y YERY A8 &2
(A) Interview Method / WTeTchIR UgRy

(B) Case Study Method / Tafdies SiaeT sreae uefy

(C) Observation Method / 313afedd Ugly
(D) Statistical Method / HiRT®IT ugfy

"Systematic effort to gain new knowledge we call research” who difine this?

Wwﬁwmﬁ%mmaﬁsﬁmwméw

fra aRyifa foram?

(A) Redmen and Mory / Y3 Tq ANY
(B) P.V.Young / QI I

(C) Fisher / fh3IR

(D) CVv.Good / WYL TS

“Scientific Social Survey and Research” who wrote this book?

AEfefhe e Wt Red” Ame W ey Rrd?

(A) P.V.Young / UIdL. I
(C) Mory / A

"Social Research" who is the author of this book?
(A) G.A.Lundberg / SII.Y. Guse
(C) Thomson / T+

Which is the source of Hypotheses?
SUBTIT BT AT DIT—dT 87

(A)  General Culture / HTHTT HEHTY
(B) Scientific Theory / AsTIfAep U=l

(C) Analogies / FHRITOIY
(D) Allofabove / SURIGd |+

10

(B) Fisher / 3R
(D) Redmen / &3+

(B) P.V.Young / WIA). I

(D) Fisher / fh3R

(

P.T.O.



61.

62.

63.

64.

65.

66.

67.

“The unity of all science consists only in its method, not its material" Who define this?

"R 39 B vHa Bao S uSfy F L, 7 b owar RAvy we §
Tg e aRaia frar? |

(A) Karl Person / Tl TOa™f= (B)Lundberg / USRI

(C) Bernord / FATS (D) Goodeand Hatt / T[S YU 8fc ()

“Broadly speaking, scientific method consists of systematic observations, classification
and interpretation of data”- Who give this statement?

“faega ot # denfie ugfy qeal &1 emaRer sraciie, avffeer Td AidEe
(A) Lundberg / TUeE (B) Chambliss / aforg
(B) Bernard / FHIS (D) Chase / =T ( )

The most suitable method for research in a large sample is

gy H faener =rest B W waife swyem Ay @

(A} Experimental Method / UaTTTeHa% fafdy (g) Survey Method /defor ffey
(C) Case Study Method / dafdtres Jregg=T fafy

(D) Supervised Study Method / THdeToT areag=T fafy ( )
Which is the merits of social survey?
| |deror & o7 €7
(A) Quantitative data / URHTOHE AT (B) Qualitative data VAINIRCAR: CEIIY
(C) Objectivity / TRIFTSaT (D) All the above / JURIGR T4

( )

"A sample as the name implies is a smaller representation of a larger whole" who define
this?

TE T S & gwe AW @ W @ e fivga g @ e anemga
oy gt 8 a7 uRemer feas <& &7
(A) Goode and Hatt / ‘l@@iﬁ_d (B) Young / T

(C) Lundberg / U (D) Fairchild / BIRAges ()

Which is not the type of probability sampling?

DI oS 2N ugfy e &7

(A) Lottary Method / @ifest fafey

(B) Grid Method / fre fafdy

(C) Random number table Method / XUSH TR ga AR

(D) Quata Sampling / FETST AR ( )

What of the following in not a Scientific research?

frfeRaa A 4 Bivar e Wy o Rewar =8 27

(A)  Objectivity / IRIfTar (B) Reliability / fazaw==rar

(C)  Use of Scientific methods / ASTIBUERT &1 UaRT (D) Ambignity / 3¥USEdT
()

11 L _
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- PART - Il (CONCERN SUBJECT)

JAINOLOGY COMPARATIVE RELIGION AND PHILOSOPHY
NOTE : :

All questions are compulsory and of objective type. / a5t vie aififarf U RIS § |
All questions carry equal marks. / ¥+t us=i & 3 T9 & )
Only one answer is to be given for each question. / T® e &7 ta & ST &1 & |

if more than one answer are marked, it would be treated as wrong answer. / @@ ¥ 21
S o B 29 F U & SR P T T TR |

-l o

68. WA FYY <4 I WX I~ §Y A--
(@1) aRmorh @) srarear
(¥) urefeorgm (&) demren

69. WG Y¥EIRT W WG W@ B uREity) —
(1) Ty (8) wpRT
@) AR () Aret=ar

70. YRR dig A TR (§E—T9H) Rorg W ¥ wig @y € 9w @ -
(31) T (8) wfer
() STy (®) dwnd

7. dig o @ vgE R § -
(@) <iret, |ty 3 wsm (@) Svpere IR HEEd
() 709 o e 9 (]) sFETETE SR WiETE

72. SO W AR T8 W Re @ —

(31) HENTS (@) feer
() Prfcs (%) o

P.T.O.



73.

77.

75.

76.

17,

78.

79.

80.

o g9 @ Siftm AT I8l W g8 ot —

(31) arefergs (@) IS
(|) doetl (]) TSR

JNMARFREA N N § 39 UDHR BT T & —
(o) et (@) Eorer
(|) daT T (<) ST T=e1

TABNAGYA &I ®Y H DI U BT § —
(@1) 99 gf i @t et

(@) T2 YBR B gHI BT qUIA

() 1A HEMER DI Silad aikd

) ®4 g &1 @wy
Wwﬁ#sﬂ‘u—-ﬂaﬁmaﬁ%—

@) fFramar - (@) aIRIgTIDE

(W) AR (@) fauremga

O SEFTT % ‘TAl.Sl. FRICC 3 Ui’ 39 TR § BRIRd § —
(1) arRmEo

(@) TR

GIEENCEUIGH

(]) rEwerET

SN O @ AR Tl B 6T 5

(&) dr= (@) ¥R

(W) B8 (%) =

99 g9 & gyt § a5 aftafad 8-

(31) arfgar @ s

(€) e (]) 99



81.

82,

83.

84. .

85.

86.

87.

88.

89.

éﬁﬁ%aﬁﬂwaﬁmmwmﬁgsn%—
(@) 9 yBR  (9) IR IR A
@) M usrR  (3) uim yoR

9 B USRI § I7 ufafeg 2
(81) ga (@) fastr
() arert (]) srva

tﬁﬂaﬁﬁﬁﬁ'wmmﬁﬁzﬁaﬁ%—
(3) O o 7wy @) 99 & &7 yRures
() 99 o B A arer (?) 87 B N T

ST MY T IR S ARN 59 AW ¥ oy o @ —
@) wnf=aerer wfeR () Ierarer qRx
(%) e wfex () wrgorg wfw

& I3 AT FREOT & ARF T[T g 8
@) WPRR | (a)tﬁ_amv

(@) gEmER : (]) w e
S ¥ R defant @ we wiad & —
(@) 24 @) 36

() 12 @® s

XCTIRUS SAPTAR’ THEEY § BT 9077 Fey & -
(31) SivreR (3) PH-Rrgra @1 wwy
(W) < yBR & (%) WA WETdR B smemfas 9=

IR S e F 5 W F S o 2
(&) Bae s (@) Rrre @1 s
() 9f &1 s () Al s

SN o F eraRuE @ arf &
(81) &< T Bxr (@) sFmrd frge
- (W) el (%) =@ =& S

P.T.O.



90.

91.

92.

93.

95.

96.

97.

98.

S oy T aguelt R 6 A Y W o 2
@) sMrae  (3) DI @) =@ (3) suRue

O F T 59 vy A R §
(@) Ao & <o 3 RrorEd

(8) wfgen sEmEM A Ty

(W) Sl <Tar 9 Ay

(%) WA wETER A yery Ry

WRRT B O gft urr: 39 s @) 8
@) "erm vl €, (@) IREd waE) €
(@) foia et €4, (3) =gef ward €

o #d e 5wl

@) PR (3) vsew (@) wa oy ) v T

Al T B 9T @
@) Wpa @) wma (@) awmiy  (3) wifer
Ut #ETEal BT Ul g9 for) arfrard 2

@) smae (@) et (%) ge (]) ufeq

T T 3 wERar 3 39 s a1 v s @
@ ez @) eriga @) o T (]) arwre g

s o ool g T W R
(&) TR

(9) vead W=

(\) SRIsT@GET

() eared &

WTEAIE BT AR &
(1) sMdIare

@) Tfy

(@) dTam

() SuTa



99. MY W WE N wffera ?
(@) U PR @ Ta i
@)W

(8) =rgfder <

100. 09 94 B
- mwmﬁwmmﬂm%
(a) wataRor e
('\‘{)W—ﬁﬁ'
(&) Toren
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All questions are compulsory and of objective type.

All questions carry equal marks.
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i R I

68. John Donne was a
(A) Romantic poet (B) Modern poet

(C) Metaphysical poet (D) Neo-classical poet
. ()

- 69. Charles lamb is known for his.
(A) Essays (B) Plays
(C) Stories (D) Novels
()
70. Who among the following is not a pre-romantic poet.
(A) Thomas Gray (B) William Collins
(C) William Cowper (D) William Blake
()
71. The name of the writer of Dr. Faustus is.
(A) Christopher Marlowe (B) Robert Greene
(C) Thomas Kyd (D) Thomas Nash
()
72, Milton's 'Paradise Lost' is an.
(A) Epic poem (B) Satirical poem
(C) Sonnet (D) Romantic poem

73. T.S. Eliot is a



74.

75.

76.

77.

78.

79.

80.

81.

(A) Modern Poet (B) Classical Poet
(C) Neo-Classical Poet (D) Romantic Poet

The Father of English poetry is.
(A) John Milton (B) William Shakespeare

(C) Edmund Spense} (D) Geoffrey Chaucer

The Father of English Essays is. ;
(A) Sir Francis Bacon (B) Joseph Addison

(C) Sir Richard Steele (D) Jonathan Surife

William Shakespeare belonged to
(A) The Elizabethan Age (B) The Augustan Age

(C) The Romantic Age (D) The Victorian Age

G.B. Shaw is famous for his.
(A) Plays (B) Poems
(C) Novels , (D) Essays

A.L. Tennyson wrote in.
(A) The Modern Era (B) Victorian Era

(C) Elizabethan period (D) Augustan period
()

Identify the work below that does not belong to the literature of the eighteenth
century :
(A) Advancement of Learning (B) Gulliver's Travels

(C) The Spectator (D) An Epistle to Dr. Arbuthnot
()

In the Rape of the Lock Pope repeatedly compares Belinda to
(A) the sun (B).the moon
(C) the north star (D) the rose

Identify the correct statement below :
(A) Gorboduc is a comedy, while Ralph Roister Doister and Gammer Gurton's
Needle are tragedies.

(B) Gorboducis a tragedy, while Ralph Roister Doister and Gammer Gurton's
Needle are comedies. '



82.

83.

84.

85.

86.

88.

(C) All of them are problem plays.

(D) All of them are farces.

Who of the following was not a contemporary of Wordsworth and Coleridge?
(A) Robert Southey . (B) Sir Walter Scott

(C) William Hazlitt (D) A.C. Swinburne
()

Who, among the following is credited with the making of the first authoritative
Dictionary of the English Language?
(A) Bishop Berkeley (B) Samuel Johnson

(C) Edmund Burke (D) Horace Walpole
()

When one says that "someone is no more" or that "someone has breathed his/her
last", the speaker is resorting to.
(A) euphism (B) euphony

(C) understatement (D) euphemism

Which of the following are "companion poems"?
(A) "Gypsy songs" and "Songs and Sonnets"

(B) "L' Allegro" and "Il Penseroso"
(C) "The Good Morrow" and "The Sun Rising"
(D) "Full Fathom Five" and "Hark, Hark! the Lark"

Charles Dickens's A Tale of Two Cities begins with the sentence.
(A) It was the best of times, it was the worst of times.

(B) It was the brightest of times, it was the darkest of times.
(C) It was the richest of times, it was the poorest of times.

(D) It was the happiest of times, it was the saddest of times.
| ()

In which of the following novels Harikatha is strategically used as a medium of
'consciousness raising'?
(A) Waiting for the Mahatma (B) The Serpent and the Rope

(C) A Bend in the Ganges (D) Kanthapura

ILA. Richards' Practical Criticism (1929) inaugurated a new phase in the history of
English critical thought. What was this book's subtitle?



89.

90.

91.

92.

93.

94.

(A) Studies in Poetry (B) A Study in Literary Judgement
(C) Essays and Studies (D) A Theoretical Guide

()

Choices of linguistic forms in using a language, or how a language is actually
spoken/written, especially one that differs from its prescribed grammar, is called.
(A) Utterance (B) Use

(C) Usage (D) Deviation
()

In most people, the first language/ dialect acquired is 'mother tonque'. Among the
commonly used terms for mother tonque, one of the following is avoided. Identify
the one term NOT applied to mother tonque:

(A) First language (B) Prime language

(C) Native language (D) Primary language

()

------ the very word is like a bell to toll me back from thee to my sole self!
Which word?
(A) Bird (B) Immortal

(C) Forlorn (D) Fancy

()
Here is a list of early English plays imitating Greek and Latin plays. Pick the odd one out :
(A) Gorboduc (B) Tamburlaine
(C) Ralph Roister Doister (D) Gammer Gurton's Needle

()

'Fluency' in language is the same as?
(A) the ability to put oneself across comfortably in speech and/or writing.

(B) the ability to command language rather than language commanding the user.
(C) glibness

(D) accuracy

()

What is a mock-heroic poem?
A mock-heroic poem
(A) Mocks at heroic pretensions in poets and critics

(B) Mocks heroism, an exaggerated
(C) Uses a heroic style to deride airs and affectations

(D) Uses a mocking style to deride heroes and hero-worship

()



g5.

96.

97.

98.

99.

99.

100.

In his poem "A Morning Walk" Nissim Ezekiel talks about Barbaric City Sick with a slums
Deprived of seasons, blessed with rains/its hawkers, beggars, iron-lunged/Processions
led by frantic drums.' Identify the city :

(A) Calcutta (B) Banares

(C) Bombay (D) Agra

The word resurrect is
(A) an abbreviation (B) a spurious verb

(C) a back-formation (D) a disguised compound

In Aristotle's Poetics we read that it is the imitation of an action that is complete and
whole, and of a certain magnitude....having a beginning, a middle, and an end.’
What is 'it'? '

(A) tragedy (B) epic

| (C) poetry (D) farce

()

'An extremely simplified form of language used for oral, verbal contact among a
community whose members speak different languages but do not share a common
language in order to fulfil the essential needs of communication.'

Which of the foIIowing‘is best described by this definition?

(A) Creole (B) Pidgin

(C) Dialect (D) Lingua franca

Who is John Keats 'Sylvan Historian'?
(A) Fanny Brawne (B) Nightingale
(C) The Grecian Urn (D) The Bridge of Quietness
()

Who is John Keats 'Sylvan Historian'?
(A) Fanny Brawne (B) Nightingale
(C) The Grecian Urn (D) The Bridge of Quietness

D.H. Lawrence uses the expression 'a bright book of life’ to describe.

(A) the novel (B) the dramatic monologue
(C) the bible (D) the short lyric
()
(YY)
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PART - I1l (CONCERN SUBJECT)
NON-VIOLENCE PEACE

NOTE :

1. All questions are compulsory and of objective type. / &+t 7% 3ifFrarf vd aegfrss & |
2. All questions carry equal marks. / & 7l & Sib T &1

3. Only one answer is to be given for each question. / U& U3 &l U@ & SR ST & |
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If more than one answer are marked, it would be treated as wrong answer. / U ?5( 3P W

& &t g & 797 & SR DY Tere HHAT STRAT |

. O @ fhad UeR 27

(i) =r (ii) = (iii)=m
How many types are of resources?
(i) Two (ii) Three (iii) Four

. AFEIRIeR @ AeHIe BNen-ud # fhaw w87

(i) 30 (i) 27 (iii) 32
How many articles are in Universal Declaration of Human Rights?
(i) 30 (ii) 27 (iii) 32

. OISR ST Aa9iAe SINo—u= o 9ild fear Tar?

(i) 10—12—1948 (ii) 10—12—1946 (i) 10—11—1948
When the "Declaration of Universal Human Rights" was declared?
(i) 10-12-1948 (i) 10-12-1946  (iii) 10-11-1948

. "Peace Education or Education for Peace" & erged @19 &7

(i) <diare (i) s =9 (iii) == wra
Who is the writer of "Peace Education or Education for Peace"?
(i) Deviprasad (ii) Amartya Sen (i) Chetan Bhagat



10.

I @ e $9 g8 o7

(i) 1919 (ii) 1930 (iii) 1932
When was the 'League of Nations' established?
(i) 1919 (i) 1930 (iii) 1932
el ARER Ba BT §Y A7

(i) 1215 (ii) 1250 (iii) 1315
When was the 'Megnacarta Rights' declared?
(i) 1215 (ii) 1250 (iii) 1315

Ty T 3 Sfeafaa SfERT B HEA -
(i) & (ii) 7 (iii) 8
~ Write the numbers of rights as mentioned in the constitution of India-
(i) 6 (ii) 7 (iii) 8
o o e R W W T 87
(i) T (i (i) 7l
With which tradition the Old Testament is related?
(‘i) Christian (ii) Islam (i) Judaism
"Angle of Peace" & o&® P 57
(i) =fra (i) wrer (iii) ey
Who is the writer of "Angle of Peace"?
(i) Comenious (ii) Plato (iii) Gandhi
o 61 @ AFATRER w1 SR BRd 57
(i) wnfa (i) e (iii) o
What do the Human Rights of First Generation indicate?
(i) Peace (ii) Liberty (i) Development

11.

(i) Res & o (ii) <Rt (iii) foraY e

Who is the author of "Power of Non-violence"?



12.

13.

14.

15.

16.

17.

7 (i) Richard B. Gregg (ii) Ruskin

(iii) Leo Tolstoy

qET AR A D AEF DA 7

(i) smerd @uer (ii) =reTen et (jii) el

Who is the author of *From Yarvada Mandir'?

(i) Acharya Kriplani (i) Gokhle (i) Mahatma Gandhi.

ol TR H9 AR Pel JRANTT g ar?

(i) 1993, TarerraT (ii) 1902, Arofrer  (iii) 1997, BUH—BIA
When and where the 'Earth Summit was organised?

(i) 1993, Guamtamala (ii) 1992, Brazil (iii) 1997, Copenhegen

"3 BT IWra Wity 3 fFE W1 # PpEr T 57

(i) @@ (ii) ufR=™ (iii) e=®
"Absence of war is the peace" in which tradition it has been said?
(i) East (ii) West (iii) Arab

"»

“Teg B AT W YA P oAED DI of

(i) MrE (ii) el (iii) S foes
Who is author of "My Experiment with Truth"?

(i) Gokhley (ii) Gandhi (i) Lokmanya Tilak
e & fpaw UeR 57

(i) = (i) = (iii) ==

How many are the types of non-violence?

(i) Two (ii) Three (iii) Four

“ait srefereen YRAY efaaRen ¥ fhad wer ur?

(i) fa=am (ii) et (iii) =TSN <EE
"Cow Economy is Indian Economy" who said?

(i) Vinoba (ii) Gandhi (iii) Nanaji Deshmukh



B

. iR e @ Rl @Y framat & 9 qd )

Name any two thinkers of Peace Education.

19. RSN AT P YRR I 17
When the Bardoli $atyagraha started?

20, 9raf T 87

What is negotiation?

21. fear & saRe Tl @1 fod |

Write the internal factors of violence.

22. IR HE Wl B 9 fafay |

Name the four noble truths.

23. 3T I B Yadls BT T2

Who is the initiator of Ahimsa Yatra?

24. AT URIETYT B TR W ey R

Who gave the four dimensions of training in non-violence?

25.ﬁwﬁwﬁwﬁma‘raﬂ‘fa‘?ﬂmﬁ@|

\ Write two names of religions related to prophetic tradition.

26. facwr ¥ frem wearwE 9 AR @7 TR Regr?
Who adopted Gandhian method of Satyagraha in abroad?

B e e

27. SIRT & Rigra & gRiures o 9

Who was the founder of Trusteeship principle?




1 R ——
What is the full form of WHO?

29. W Y Y& B Rigra § a1y Ty wew 2

What do you mean by Principle of Purity of Means?

3o.nf@raﬁmmmaﬁmwnﬁmwm§?
What do you mean by Gandhian theory of Gram Swaragya?

31. WE—IRTT Y gRwmT ford |

Define Co-existence.

32. ISR & 6% SPRYT & W19 Uy oy #7
In which sanctuary of Rajasthan Tigers are found?

\Y

33.&ﬁma§gvnﬁﬁtmanﬁmmmﬁmn /36y
Shri Sundar Lal Bahuguna founded the Chipko Movement. (True/False)
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NOTE :

1. All questions are compulsory and of objective type. / &t we aifrarf T &1

2. All questions carry equal marks. / 9 we=l & ofs 99H & |

3. Only one answer is to be given for each question. / ¥® U3 &7 0% & SR a1 & |

4.  If more than one answer are marked, it would be treated as wrong answer. / @& 9

3 S S Y < ¥ U B SR B T T AT |

68.  Udoifr ANT WA BT qui Rpa wrel # ey 8-
(@) 3 @) 4 |
&) 5 (®) 6

69. Y g5 fram 9 & e aar 8-
(@) 4 @) s
(@) 6 ) 8

70. RS GfRdr & =R B o

(@) 7l erve @) 7=ff W
(@) =¥ gaduifer ) s & & S
( )
71. TV ST AT & DI § B9 U- a7 8—
(@) ui=d @) B0
() e ) s ¥ B
( )
72. eI § Wadie B 97
(@) At "B &) amard gerh
(@) @R fader (@) @i fig
( )
73. a1 foram ol & ATy a=1 87
(&) ui=m @) <
- (9) 38 () = Fiy



81.

82.

ﬁmmﬁ%ﬁeﬁﬁ#amw%?

(@) ®: @) b

(W) amo () =
m#ﬁaﬁmwm%;

(e1) wim @ ©: (@) =g
Rﬁwmﬁwwﬁmm&’}?

(@1) qig @) ==

(@) w@rRm @) Rmarm=<
AT &9 & Yoyer -

(37) RO T @) 7= werhy

(W) 7= srf= @) @ fder=

U1 A TR B A Ao &
(37) wErTg e g)uwnmaﬁw R
(\) I~Hg Py @) Rsrmy a1y



TS W@l IOY P SEraIaT @ A 8 Aty —

@) 10-12gm% @) 12-15gm%

() 15-17 gm% ®) 3 & PIg T8
REA ST @1 qR =T 8T 8-

@) orhifesg s= & @) wfa &

(@) st & (=) frfr @
AT TR & T+ BT &—

@) urea & @) W ¥

(@) g & @) s @ ;g T
Aa Dl P HEAT Bl § —

(@) 10 @) 12

(&) 13 (®) 21
a?wzﬁrmmﬁnmwwf%ﬁ—
(@) W= - (9) = e
() TR (@) v g
Ser Y WPR B B E—

(@) 2 . @) 20

(@) 15 ’ <) 19

e fsm &1 arfe ger @ 87

(e1) 3TopEra (8) s

(|) Ve (2) wmrT
HAfasT ¥ ey farar ST -

(31) 9 AR @I
(@) Y FIER BT
(|) 9 Qd T AIER B

@) T | B E

feg o1 3t -

(@) s IR R

(@) w=Re Afasmd

() e Td arer fadwand
@) = ¥ B 7

s &1 far Y o8 o 8-
@) Rravs wras @) ¥.gw. Rever

(w) faferrs goe () oD
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mmﬁmmm%-

@) R @@=
(‘er)ma’f'@r ‘ (@) ST w4 &
' W%%m%ﬁmﬁﬁ-

&) 10

() 13 (?.')14
.@H‘\ﬁwmmﬁmwﬁ#

@) T = @ @) 7 e T
@) 7 Ragg a5 @ wET g

0 Tt B fper it ¥ ey mar &
@) 2 | @3
() 4 (@) e
e INR W gt B we e o a |
- @ns @) 4
()5 @) 9 @ B 98
AT B A o 8-
@) ofras B (@) ffcer ugfy
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PART ~ Il (CONCERN SUBIJECT)

EDUCATION
NOTE :
1. All questions are compulsory and of objective type. / @it Test aifarf W TS E |
2. All questions carry equal marks. / &+t ue=i & 3% o/ f
3. Only one answer is to be given for each question. / T e a7 e & SR 3T & |
4. If more than one answer are marked, it would be treated as wrong answer. / T ¥

3feep TR T B 9T F 79T & IR B Terd T TRAT |

6. W T B BN & 5 W oF onen B AR F A RiErt @ e @ R
T IR, T Y T o T, Ts D O B N G kT § R owad) s
o SIRATT? |
- (&) wiem (@) g (W) a=ia (&) S
Which philosophy says “Do not care to know various theories about God and Soul;

do good and be good; that will take you to whatever truth there is”?
(A) Sankhya (B) Buddhism (C) Vedanta (D) Jainism

()

69. b Tu ¥ el ¥ wrler vahy ReRg P

@) s @) == @) s ®) g

Which philosophy developed the monitorial system in classrooms ?

(A) Vedic (B) Vedant (C) Islam (D) Buddhism
()

70. it oY g B g R @ W W 87
(1) e &1 e Wi A B wite § & g £
@ A @ W a1 sFlTERS SR, W WheT @ iTaRe St 9§
STET gWTE B ]
@) == °f & 7§ 9 W g9 wwar ¥

1
P.T.O.



7M.

72,

(4) o I=1 BT AT WINS WS BT B TeT PRt B
(o1) SURITT ARY T T | |

(8) Baa BUF 2 3k 3 W T

(4) Dact HUT 2 3k 4 T

() Paet AT 1 ok 2 W &

Why is mother regarded as the first teacher of a child ?

L. The basic learning of the child occurs in the company of mother only.

II. Informal learning of the child with the mother is more effective than the formal
learning in later years of life. ’

IIL The child lives in the womb of the mother for 9 months.

IV.. The mother tries to impart her best to the child.

(A) All the above four statements are correct.

(B) Only statements II and III are correct.

(C) Only statements IT and IV are correct.

(D) Only statements I and II are correct.

e # sraeRt & garEr 39 Gwg 27 _,
(a)ﬁm%ﬁﬁmm%%ﬁmﬁ%mﬁ%%q@wn
@) &R It e wvenT @remr

(&) 2w ¥ Rremone &1 folever s

(@) e @1 A i

Equality of Educational opportunities is possible by

(A) Extending portals of educational institutions to all without any discrimination
(B) Opening more educational institutions

(C) Privatizing the education system in the country

(D) Public funding of Education

BT & e ST #

(%) =t faRdw sarfae @ ar B @ R SR B TRy
(%) srarfded SEu wNfs SEuT B T B 2
(ﬂ)wmwmﬁﬁﬂmﬁmmﬁwm%r
(a)wwﬁaeﬁuﬁmwﬁzﬁeﬁwmmw%l

In the conditioning approach to learning :

(A) The subject should be in readiness to receive the unnatural stimulus.
(B) The unnatural stimulus follows the natural stimulus,

(C) Response to natural stimulus required to be reinforced.

(D) The natural stimulus follows the unnatural stimulus.,

P.T.O.
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74.

75.

76.

wifery frepd 3 uftear #, ey 2 3R o9 O & w9 79 -
(@7) Fref I WIHBeTT HHR B o €

(%) ot I wrRwTT B ST Y AW §|

() P IF0 WTRHeIT @) PR BN §)

(@) fear 1 ymwer WorR a9 #

In the process of statistical inference, the Type II Error is committed when we
(A) Accept a true null hypothesis :

(B) Reject a true null hypothesis

(C) Reject a false null hypothesis

(D) Accept a false null hypothesis

Frfefed & & P &1 PRe ara # o TR @ fivg R sRE &7

(e7) smfer @) @t
() sggam (@) W

Which of the followiﬁg works as a powerful barrier against vertical mobility in
India ? '

(A) Caste (B) Class
(C) Occupation (D) Jobs

'ﬁaﬁﬁwwﬁwmuﬁmﬁmw@aﬁ?ﬁ%l"wmmm
el 87

(@) argstarg @) &R

(W) SuAfirrmare (@) gurfag

“All systems of ideas are subject to verification by consequences” is the core of the
Philosophy of

(A) Idealism (B) Existentialism
(C) Pragmatism (D) Realism

ﬁﬂ%@ﬁﬁﬁmwﬁwﬁgﬁg—aﬂrﬁwmﬁ

AT /U
@) —— xAw @) X TN
100 100
Y. LA
(&) —— x 100 & —— x 100
LAY - T
3

P.T.O.



77.

78.

Intelligence Quotient is computéd by which of the following forrnula ?

MA. C.A.
A XC.A @) i XM.A

100 100

MA. CA
(o) emmum— X 100 () e X 100

C.A M.A
TP U MNSR] BT G Se9g & |

(@) f= ufehar a1 srayRYT @ WA
(8) T B SR BT AT PR

() = o wfrsgarfy e

(3) wriiept @ uRads &) e wvn |

The major objective of a qualitative research study is to
(A) understand a process or concept

(B) study group-differences

(C) predict relationships

(D) explain variation in measurements

ﬁuﬁ%w,qamﬁﬁ#am%mww@qsﬁﬁmélsﬁ

USrE @ WE B BT g9 AR | ,

(@) Wi, stwRe wfureear, a@ & wieammam, @i
wfsareTemar ;

(a)ﬂ%ﬁdﬁmﬁ%mwm,aﬁg%ﬁmm, MraiRes  wfearerasar,
Td—ifearcHear

(@) dvaRe dfarere, Wadkdte e, -, 99 g
wfsareea

(@) wadxifre wfFareear, qE—wfsarerear, Jogfy wiearwedr, stv=iRe
HfeareTemar _

According to Piaget, cognitive development in human beings take place through
four important stages. Identify the correct order of these stages.

(A) Pre-operational, formal operational, concrete operational, sensory motor
(B) Sensory motor, concrete operational, formal operational pre-cperational
(C) Formal operational, sensory motor, pre-operational, concrete operational
(D) Sensory motor, pre-operational, concrete operational, formal operational

P.T.O.
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81.

'Hﬁ‘éﬁﬁﬁam—cﬁa,wéﬁaﬁm,ﬁmﬁﬁwﬁwswﬁa@ﬂa%i"
s G siiferea aar 87
(1)%%%%%%&@%

(2) Rem wrfoie qugat @ fog e €

(3) Rrem o= @ e B g ararelt w9 wHef Far dar o) €
(4)ﬁrmwﬁ$m§?mwﬁéeﬂvwmmaﬁtgaﬁﬁmm%l
HE W FE SR BT TGT HRQ

Te
(@) 13 3 @) 2 3% 4
@) 18k 2 () 3 iR 4

“Investment in Education is the single, largest item of expenditure, next to defence,
in many countries today.” What is the social justification ?

L. Education has become a pressing need under globalization.

II. Education is the Panacea for social ills.

III. Education produces unselfish and competent leaders for establishing polity.

IV. Education helps to procure security, prosperity and social well-being for all.
Choose the correct answer from the given codes :
Codes :

(A)Iand ITI B)Iand IV
©Iland I (D) IIT and IV

&

et & & orgeaT ot @ e @ ey ¥ St e
@) e Sfoe qre

(@) orgvaTEat @ forg e Bt Prere

() srgee & forg e e sk ww g

(@) ST i

The feasibility of a research study should be considered in the li ght of
(A) Potential ethical concerns

(B) Skills required for the researcher

(C) Cost and time required to conduct the research
(D) All of above

ﬁmﬁﬁﬁmﬁa@mﬁq@?ﬁwmm%mmgvmﬁmw?
@) IRTH. M @) S.gE. R
(&) o9 aETeE (&) s urgag

Which of the following won a Nobel Prize for his pioneering work on learning
theories ? '

(A) R.M. Gayne (B) J.S. Bruner
(C) Lev Vygotsky (D) Ivan Pavlov
()
5

P.T.O.



82.

85.

2

(@) s @1 Aaw (@) woma @1 fram

(@) TaRar &1 e (@) wmierar @1 frgw
f‘The responses which are followed by satisfying after-effects tends to be learned”,
EZ) The law of exercise (B) The law of effect
(C) The law of readiness (D) The law of relativity

o1 & 9 B < argei el o § ey weEd T8 27
(&%) srgeerT Rueror @Y o § gfy FRar ¥

(9) SR i RSl @ WA $8 ¥ wwer vEar
(W) rgeET™ A Fiffe Suafey ¥

(%) ST ¥ B |ETS SR ¥ AnTer dar 8

The proposition about research that you do not agree is

(A) Research improves the quality of teaching,

(B) Research leads to finding solution to too many problems.
(C) Research is only a personnel achievement.

(D) Research contributes to social progress of the society.

%

AR T @ g e P T 8
(&) =aw™ @) R (Rew)
(@) e @) s &1 @

What is the basic criterion for social class ?
(A) Occupation (B) Status
(C) Religion (D) Locale of Residence

YA TP oY AN, AY W B §9 FUT B U F wHEr @R wwHer
ugi ¥ T sl &7

(1) W | Ifwr & waear

(2) WHEr & fiurg } W @ |y wHM FaER

(3) T @ AT & W B M E AR T W areR

(4) worar & AT ® fAiEr

IS B | WE TR BT g4 B ¢

e -
@) 3 @ik 2 @) 3 3ix 1
(@) 3 3k 4 (®) 13k 4

P.T.O.
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87.

88.

“School is a community in miniature, a micro society.” What do the terms
“Community” and “Society” signify in the context ?

I. Community signifies freedom.

II. Community signifies equal treatment to all.

IIL. Society signifies equality of educational and job opportunities.
IV. Society signifies control.

Choose the correct answer from the given codes :

Codes : .
(A) Il and II (B)IandI
(O lland IV D)land IV
()
g 3R R~ = 3 9 e awifea 27
(@) HREeTaR (@) gerdarg
(9) aERaE [®) e FfEE
Pavlov and Skinner belongs to
(A) Structuralism (B) Functionalism
(C) Behaviourism (D) Gestalt Psychology
¢ )

"G D qTeib q, H S ST T e I I 6haT € AT B fbe faar or?

(31) TR (9) urgeid @) R () dfews
“Give me the baby and I will make it as you desire” was the diction pronounced by
(A) Guthrie (B) Pavlov (C) Skinner (D) Watson

()
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@) v wifes U fras I=ria 98 W9 B I Wl 8 O UP Al wars @
e B WY H I8d §Y TSV H 3|

@) o™t & S § FEan aRu, B9 9MF, SR SIS BT TANT $ BT

() g, AEEA BIF AR FISAT BT YART B B

(@) yRig ForEl B e, 7T 9RuE 9E R aeltee gl § @ @

How is the term “Culture” defined ?

(A) As a complex whole, which includes virtually everything, acquired by man
being a member of the society.

(B) As the using of the latest in costumes, home appliances, cars, etc. in the day to
day life.
(C) As the using of computer, mobile phones and internet.

(D) As becoming members of prominent clubs, wearing costly dress and eating in
luxury hotels.
()
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90.

91.

92.

q&ﬁqm,wmﬂﬁ,ﬁmﬁé?mmﬂﬁﬁm%l
(&) WHERR S 9@® avg B 2 N 16 o7 g1 BT |

(7) wTg B

() Swe T Wi wredR

(@) =

The technology useful to student who is visually impaired, but not blind

(A) Software that magnifies everything by 2 to 16 times
(B) Handsfree keyboard '

(C) Text to speech software
(D) Touch screen

ﬁﬁ%@aﬁﬁg&:aﬁvméimﬁmwzﬁwﬁ%?
(@) i gfgw I= gorehe B €

@) & o st A wem gy Bh R

(0) T© o ge A gy @y o B 2

() &® goreha szt & gfy afr fry et 2

Which of the following is true for intelligence and creativity ?
(A) All intelligent children are creative.

(B) All creative children have high IQ.

(C) Some creative children have high IQ.

(D) Some creative children have low IQ.

awwmmﬁmﬂa%%mmﬁq.w.s‘.ﬁmaiﬁm%&w?

@) 1964 (®) 1968
(&) 1986 (@) 1992
L.A.S.Es in teacher education were started in
(A) 1964 (B) 1968
(C) 1986 (D) 1992
. ( )
ArtesE qar &7
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@) 13k 2 @) 23R 3
(@) 3 3R 4 (®) 4 &R 1
What is Guidance ?

L Helping a person Systematically to overcome his/her difficulties.

II. Helping an individual to understand himself/herself, his/her needs and his/her
environment.

I11. Helping a boy, going out of the way, to score more marks.

IV.Giving a mild electric shock and activating the brain of a person mentally

disturbed.
Choose the correct answer from the given codes :
Codes :
(A)Iand IT (B) Il and III
(C) Il and IV D)IVandI
()
93. WU B yrw: PR ewar 2

@) B e yomred (@) vt et yomel
() o fer gomsh (@) SN yomeh
Emotions are usually governed by :
(A) Central Nervous System (B) Automatic Nervous System
(O) Peripheral Nervous System (D) Sacral System

2 ()

(@) TN vemIRYa oz (a)dm@@wﬁﬁﬁea%w@

Pre-test-post-test randomized matching control group design is an example of
(A) True experimental design (B) Pre- experimental design
(C) Quasi-experimental design (D) Post-facto experimental design

95, UIGIFEH ot fafe=T Hepeward @y 87
(1) srgea
(2) fawm
(3) Siem
(4) Rreror
frfofed @e @1 swEn Hifw -
EQ‘?':
@) 1,28l 3 @) 2, 3 i 4
() 3, 4 3R 1 @) 4, 132
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99,

What are the various concepts of curriciulum ?

I. Experience II. Subject
IIL. Objective IV. Teaching ,
Choose the correct answer from the given codes :
Codes :
(A) L II and IIT (B)IL Il and IV
O I IVandl - D)IV,Iand II
(
SHTHDTT BT S h
@) =red Ruad= @) Srig 9.
(%) erfere® $xa. (@) Rer fyw.
The Father of Creativity %
(A) Charles Spearman  (B) Torrance I3.P.
(C) Thorndike E.L. (D) Skinner B.F.
(

1 4.9 5w ot @ S e e Riem @1 Rdwtiewor frar ar?

(87) &< T (§) garfermR s

(|) SrorY mERT @) Jeer |
Which of the follow}ng Commission first decentralized the primary education ?
(A) Hunter Commission (B) Mudaliar Commission

(C) Kothari Commission (D) Sadler Coramission

(
& @y sraumron & vom wRues @ 27
(@) 9.d). e @) srempe dMe
(@) 9. TR (®) ffergw w§
The cohcept of Intelligence Quotient was first given by
(A) J.P. Guilford (B) Alfred Binet
(C) 1.S. Bruner (D) William Stern
(

JeaTas R & afdg SisH § yer R o 2
(&) fawaawg argTe

@) @ERe ugusH

(\) dqof ferer) araraxor

(%) Srgeem UrgHSH
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100.

(B) Practical courses ;
(C) Complete school environment
(D) Research courses

: @) B w®
SR () Tm ™ w

While conducting experimental research a researcher should contrbl the

(&) W =R B

- Internship Programme of teacher education provides
“(A) Content courses

(A) Independent variables (B) Dependent variables

(C) No variables

11

(D) Extraneous variables

P.T.O.
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All questions are compulsory and of objective type. / a5t He ifarf wg axgfiss £ |
All questions carry equal marks. / it 799} & 3 T & |
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JAIN VISHVA BHARATI INSTITUTE, LADNUN
(DEEMED UNIVERSITY)

RET AUG. - 2014
PART - lIl (CONCERN SUBIJECT)

SOCIAL WORK
NOTE :

1.  All questions are compulsory and of objective type. / Tt we= 3ifarf vd awgfiss & |
2. All questions carry equal marks. / 9}t HeT & 37 T & |

3. Only one answer is to be given for each question. / @ T3 &I & & STR T & |
4

If more than one answer are marked, it would be treated as wrong answer. / & 3

31feeh IR S Y <2 | T P IR Y Teid AT STRAT |

68. TAECS Wed ¥ WY §97 Aa9IId FA SR 6h DI G 87
(37) SRS Ao FHBR |
@) MR®- WIS FHOR T
@) IS IS FHER Gh
(]) g.&. MG HADPR FH

The largest Professional Social work Association in the United States is:
(a) International Federation of Social Worker

(b) American Association of Social Worker

(c) National Association of Social Worker

(d) U.K. Association of Social Worker , ( )

69. e Al & gf afira odeq & W o= 9 SuRerd R Refa @

HEARIT 87

(37) AFRT® T (@) AFRIs A=

(@) faermar (]) SuRIa |

(a) Mental illness (b) Mental retardation

(c) Isolation (d) All of the above

()

70. g 3BT ofia WR 991 X&@ # Bl o—

(a7) gof Tt (@) et T

() dfre < ®) s 9 15



71.

72.

73.

74,

Failure to maintain minimum desirable standard of living is:
(a) Absolute Poverty (b) Relative Poverty
(c) Deprivation (d) None of these ( )

fe, St 39l oA Rafa & w718t ], Tawd=l & arees ¥ o araraRer §
UREd AT B, ST ST B |

(31) TR faReY CIRERL]

() BaEmEfSIa @) afi® w9 9 dER

Person, not satisfied with present position, brings changes in their own
environment by innovations.

(a) Non-conformist (b) Rebel

(c) Maladjusted (d) Mentally ill | Fs3

fr=fafaa § @ fras ogaR "9 TRE QU @1 U$ @UE w9 § Biad
wWey “yaad R 87

(@) fopa dorr fAmre™ (@) TSR

(@) argor () mfd=

(a) Pincul and Minahan (b) Prigmore

(c) Wesisner (d) Garvin | L o
Ml NIl TS U NI =1 T SUSR § | A /3T
Free legal aid is an instrument of social justice. True/false

B () : warell I JeR § T v Hewayul uge B
DR (@) : AHINTD FAfdTd PRI AFElds ST @ SuanT 3 forg w8t 2|
A A T P I SWR YA ¢

(@) (A)@r (R) Sl |E ® 3R (R), (A) BT GE WG & |

@) (A) T (R) 1 & |8 TE B

() (A) @ (R) ST FE &, W (R), (A) BT I8 W0 T8} |
@) (A) |8 B, IR (R), (A) BT & LB & & |

Assertion (A): Self decision making is an important aspect in growth and
development of the client.

Reason (B): Case worker are not involved in making use of your answer from codes
given below:

(a) Both (A) and (R) are correct, and (R) is the correct explanation of (A)

(b) Both (A) and (R) are not correct

(c) Both (A) and (R) correct, But (R) is not the correct explanation of (A)

(d) (A) is correct, but (R) is not the correct explanation of (A) ( )
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79.

ARG § O @ @l g% BRu a1 87 (Frefafed # 9 U6 SugE Siae

gfAq)
S ESIBINIEaI (@) BB () s gig (]) ITAIHR

What is the main reason of forest degradation in India (Choose an appropriate
answer from the following):
(a) Industrialization (b) Urbanization

(c) Population growth and (d) Globalization ( )

% RERBR) ST IR ¥ e PRGH B &7 F 7 fAPT T Bl 77
(Frefalag & W Fa9 ogfea S 7o) '

(@1) @ @1 RférT s

@) WRPR D HISH DI FTH T4

(@) < @ W W) A g

What role does a NGO play in the field of population programme in India? (Choose
the most inappropriate answer from the following)

(a) Educating the people

(b) Facilitating the Government Programme

(c) Improving the Nutritional level of people ( )

ST T 57 '
(a1) <& Jed @) e 1. mdT
(@) Ager o, Ml (3) Tore fiewds

Scheme for analysis group interaction called as 'Interaction forces' is developed by:
(a) Robert Bales (b) Charles D. Garvin

(c) Meada J. Galinsky (d) Alex Gitterman ( )

Y B YebaT g 8—

(@) FHaag BT (@) |re P

(&) frrder @1 (3) T A P TE

'Span of Control' is a principle of -

(A) Coordination (b) Organisation

(c) Direction (d) None of these ( )
v Hg fasr Rad yaiRa g3 ofi-

First human development report was published in:

(a1) 1991 /1991 # (3) 1990 /1990 H

() 1992 /1992 H (@) 1993 /1993 # ( )

3



80. AHINTS qHIAd § DA FAEAD 8 Gdhdl &7
(31) <Ay @) Tt
() IRIR & Ge  (]) WRBRI HHAN
Who can assist in Social Advocacy?
(a) Businessman ‘ (b) Advocate

(c) Family Member  (d) Government Servant ="

81. feam ufomifea frar 2 & T o, Sffu=R o arMIiT® B & SIRY
TNE GUR ©; ARl & |mifee arararer § gRkedds | @1 ggha 87
(@7) Tad it (@) diex <.
(@) fhfora drger @) 7 Rewos
Who propounded that social action is moss betterment through propaganda and
Social legislation, a method of social change in the social environment of the

clients?
(a) M.V. Murthy (b) Peter Lee
(c) Philip Koheler (d) Mary Richmond ( )

82. =1 % P9 gataRer wvevr ¥ SRl 87
Which one is related to environment protection?

(37) JTUST ST / (a) Dandi Movement
() frue sm=re / (b) Chipko Movement

(&) <erET e_ieE /  (c) Telangana Movement

(]) Ta¥ell am=le© /  (d) Naxalite Movement A ( )
83. JMYST B BRI 57

(1) i @) wra A

(@) < (%) 37 ¥ B W TE

The cause/causes of disaster is/are

(a) Natural (b) Man-made

(c) both; and (d) None of these ( )

84. e i eifdfm few af # aiika ga?
In which year Domestic Violence Act was possed?
(81) 2003 (@) 2004
(9) 2006 () 2005 . ( )



85. UP UGHI & WU ¥ WHIe g SR Ffalad &) weradn 8 axar § ¢
(1) S H SRl & WHERI BT & I W, FIST D |
() |rIiSTes Rerferdl &1 gwifdd o e 95e # faaal o gl o |
(3) Stwa IOl WHR® I B WIRY ARG BRidTl Bl seM @ forg fdcall @ |
(4) Sofam =t

Social group work of methods does not help:

(a) Community to solve problems of groups in a community

(b) Individuals and groups to influence and change social situation
(c) Individuals to enhance social functioning through professional group experience
(d) All the above ( )

g6.  fawg Fare e frw af ¥ wRa gom &2
Hindu Marriage Act passed in the year:
(31) 1954 (@) 1956
(%) 1955 (<) 1855 ()

87. f=faRaa & 9 @mfore fOReY 9. 1= «ar 872
(31 Tea=t TR (@) Ars

WASRICEIL (=) firre

Which of the following is anti-social element?

(a) Clique (b) Crowd

(c) Organised group (d) Gang ( )

88. IR B A1 AR H TRl T hEeldl 87
The flexibility in handling change is termed as-

(@1) gREauRaT / Altruism (@) TTHIOT / Innovation
(d) srgperieiterar / Adoptability (]) 3mmBTHDT / Aggressiveness ()

89. fFrfoRad IR—RSR T BT S AIRY fhd ST & Ha § gaRed B

Arrange the following Non-Govt. experiments in order in which they appeared use
the code given below:

(1) f¥ap1 / Firka (9) WivsH / Marthandam

() Harum™ / Sevagram (]) Ts9a / Gurgaon

(a) (i).(iv) (ii) (iii) (b) (iv) (i) (iii) (i)

(c) (ii) (iv) (iii) (i) (d) (iii) (iv) (i) (ii) L)

90. STAIRCS el 3 AR dadd’ 31 fhem et fear 87
'Diagnostic school of social case work' was developed by:
(31) 39 / Ross @) S /Jung
(d) Y& /Rank (]) A /Mead | [
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91. Y& JAgier o 5T | I §am oar?
Bhudan Andolan started from which place?

(@7) affrerrg / Tamilnadu OEIRCEES] /Andhra Pradesh
(¥) STR Uaw / Utter Pradesh  (3) T[ORTd / Gujarat ( )

92. AN D FHINT BT AT fha @) ofi?

Satyasodhak Samaj was founded by:
(@1) <. 913, eSS HR / Dr. B.R. Ambedkar

(8) AT HUSRY / Ramesh Bhandari
() SEIfET Tel / Jyotiba Phule
(%) 3T WX / Anna Hazare ()

93, frefoled 4 9 o9 a1 g SR I SurTy T8} &7
Which one is not the approach of group wise practice?

(37) FafdeaTgR® / Therapeutic () fawTee® / Developmental
(|) e ARUSS / Task Oriented () 3MMeiPIRF / Ornamental ( )
94, “URA U @’ KIS fas g1 foredl 18 872

"Discovery of India" book is written by:

(31) 3R AR / R.C. Majumdar

(@) sf~e=1 Wil / Indira Gandhi

(W) wgre Tt / Mahatma Gandhi

(€) Y. SarERelTdl 8% / Pt. Jawahar Lal Nehru ( )

95.  f=feaad & § ®9 w& Ao M aw =& 87
(1) SIR® ARBBR e e
2) FrEm s
(3) = BT DR AT
(4) a1 wReor fefTH
Which of the following is not a social legislation?
(a) Protection of Civil Right Act
(b) Beggars Act

(c) Right to Information Act

(d) Forest Conservation Act ( ' )

96. gl SUrTH BT fefaRed § 9 foet aifed fbar s 82

Field work based approach is classified as:

(37) smgwTfd® / Empirical @) Vfa=IRie / Historical
(9) Y% / Experimental GEIER irﬁﬁ'l?ﬂ'cﬁ / Biographical

()



98.

99.

100.

Job security would fall under which of the following:
(@) 3§ /Ego
(@) arFfei® / Social

(|) et / Safety
(€) smfif / Self Actualization

AAIfazevor frad gwfaa 87

Psychonalysis is associated with:

(31) dfgaita / Paviov (@) Rrmvs wigs / Sigmund Frued

(§) uRa& &+ / Eric Barne (&) ST / Jung

1952 # fa i &1 or] fosar mam?
Which Act was implemented in 1952?

- (@) ~gaH Ao AT / Minimum Wage Act

@) @™ AATH / Mines Act
(W) 99 yrae A9 / Payment bonus Act
(&) F¥ar Afasa = AIfSf =™ / Employment Provident Fund

5 <R & 87

Labour Court is:

(31) sffuriae ifsfSgm / Adjudication Authority
(@) T_ITRT TSR / Settlement Authority

(@) Wfeed WRHRT / Voluntary Authority

() ar it IR / Social Authority

szﬁﬁwﬁﬁawﬁﬁ%wmwm?




